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Multiplication (Vertical) Name:
Solve each problem. Answers
1 77 2) 66 3) 10 4 62
x 46 82 x 53 x 94 "
2,
3,
4.
5) 36 6) 76 7) 27 8) 36
5.
x 37 28 x 85 X 32
6.
7.
8.
9) 95 10) 38 11) 84 12) 38
9,
X 85 77 x 28 X 37
10.
11.
12.
13) 70 14) 84 15) 67 16) 84
13.
x 16 46 x 45 X 41
14.
15.
16.
17) 62 18) 32 19) 93 20) 98
17.
X 31 99 x 48 X 96
18.
19.
20.
1-10 [95[90[85[80[75]70(65]60]55[50
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Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
1) 2) 3) 4)
77 66 10 62 . 3542
X 46 X 82 x 53 X 94
462 132 30 248 , 5412
+ 3,080 + 5,280 +500 + 5,580
3.542 5412 530 5 828 3 530
. 5828
5) 6) 7) 8)
36 76 27 36 . 13
X 37 X 28 x 85 X 32
252 608 135 72 6 2128
+1,080 +1,520 +2,160 +1,080
1,332 2128 2 295 1,152 7. 2,295
s 17152
9) 10) 11) 12)
95 38 84 38 . 80T
x 85 x 77 x 28 x 37
475 266 672 266 o 2926
+7.600 +2.660 +1,680 +1,140
8.075 2926 2352 1,406 1. 2,392
1406
13 14 15 16
) 70 ) 84 ) 67 ) 84 s 1,120
x 16 X 46 x 45 X 41
420 504 335 84 u 3864
+ 700 +3.360 +2,680 +3.360
1,120 3.864 3.015 3.444 15 3,015
16. 3,444
17 18 19 20
) 62 ) 32 ) 93 ) 98 o 1922
X 31 X 99 x 48 X 96
62 288 744 538 s, 3,168
+1,860 +2.880 +3,720 + 8,820
1,922 3.168 4.464 9.408 0. 4,464
0. 9,408

[ M ath ] www.CommonCoreSheets.com

1-10 | 95| 90

85

80

75

70| 65]60|55|50

11-20| 45| 40

35

30

25

20115101 5{ 0




	Worksheet
	Answer Key

